Kansas Corporation Commission Oil & Gas Conservation Division

WELL COMPLETION FORM

Form	Form ACO-1 September 1999 Must Be Typed
101222	
	ALA E .

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #5097	API No. 15 - 135-24190-00-00 OR GIAL
Name: Martin Oil Producers Inc.	County: Ness County, Kansas
Address: 150 North Main - Suite 1010	S/2 NE Sec. 24 Twp. 17 S. R. 25 East West
City/State/Zip: Wichita, Kansas 67202	2150 feet from S / (*) (circle one) Line of Section
Purchaser: NCRA	1385 feet from E/ W (circle one) Line of Section
Operator Contact Person: Joseph E. Moreland, Jr.	·
Phone: (316) 264-0352	Footages Calculated from Nearest Outside Section Corner:
Contractor: Name: Duke Drilling Co., Inc.	(circle one) NE SE NW SW Lease Name:
License: 5929	Field Name: Aldrich NE
Wellsite Geologist: Roger Martin	
,	Producing Formation: Elevation: Ground: 2386 Kelly Bushing: 2394
Designate Type of Completion:	_
X New Well Re-Entry Workover	Total Depth: 4343 Plug Back Total Depth:
X Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at313.87Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If Atternate II completion, cement circulated from 1699
If Workover/Re-entry: Old Well Info as follows:	auxfactor deliberation, centeral circulated north
Operator:	feet depth to surface w/ 400 sx cmt. 60/40 pozmix 6% gel - 1/4 flow seal
Well Name:	
Original Comp. Date:Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit) UT KIR 1/18
Deepening Re-perf Conv. to Enhr/SWD	Chloride content 34,000 ppm Fluid volume 7,280 bbls
Plug BackPlug Back Total Depth	Dewatering method used absorbed into surface soi
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	
Other (SWD or Enhr.?) Docket No	Operator Name:
08-19-02 08-28-02 9/23/02	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec Twp S. R 🗍 East 🗍 West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, worked information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline log-TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well:	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, wer or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
or and complete and correct to the best of my knowledge.	
Signature: 2000 2 1 Wie Sond Q	KCC Office Use ONLY
itle: Geologist Date: 11/20/02	Latter of Confidentially
	Letter of Confidentiality Attached If Denied, Yes Date:
subscribed and sworn to before me this 20thay of November	 ,
9 2002 Ana 1 (/)	Wireline Log Received
lotary Public: DINOSCO Digital Public:	Geologist Report Received
//	MOGENE HITZ UC Distribution NOTARY PUBLIC
Pate Commission Expires:	STATE OF KANSAS
	My Appt. Exp. MAR. 7, 2004

artin Oil Pro	ducers	, Inc.	·· Te	ase Name	Potter		Well #v	4	
17 S. R. 25	☐ Eas					ty, Kansas			
phow important tops a en and closed, flowing covery, and flow rate	and shus if gas to	it-in pressures, o surface test, a	whethe along w	er shut-in pr	ressure reached	static level, hydr	ostatic pressu	ires, bot	om hole
<u> </u>		<u> </u>				· · · · · · · · · · · · · · · · · · ·			
en <i>I Sheets)</i>	[X] Y	∕es ∏No			Log Formation	on (Top), Depth	and Datum	[_] Sample
ological Survey		∕es		i i			Тор		Datum
	ПУ	∕es ⊠No		li .					+ 744
	_				_	e			+ 715
	، لما	es		l l	. –				-1295
				l l	, -				-1337 -1627
				1 .					-1627 -1756
tion Guard		,							-1831
						·			-1831 -1933
				10,1					-1933
						ıcy			-1936
							4340		-1946
				_	_				
			1		1		1		1
Size Hole Drilled					Setting Depth	Type of Cement	# Sacjs Used		and Percent Additives
12-1/4"	8-	-5/8"	ļ	20#	313.87	·	4 .	3%c	2%gel
7-7/8"	5-	1/2"	1	5.5#	4342'		1	6%ge	L {#flose
							<u> </u>		
· · · · · · · · · · · · · · · · · · ·		ADDITIONAL	CEMEN	ITING / SOL	JEEZE RECORD				-
Depth Top Bottom	Туре	Type of Cement #Sacks Used		Type and Percent Additives					
							·		
	. •								
				pe				rd	Depth
4330-33			 .		Mud a	cid	250	gal	4333
·4330 - 35					Swift	acid	250	gal	4333
						·			
							· ————————————————————————————————————		i i
Size	Set At		Packe	r At	Liner Run		· · · · · · · · · · · · · · · · · · ·		
2 3/8"	433	37			, <u> </u>	JYes . [X] No	, ,		
	nr.	Producing Metho	od	Flowing	2 X Pumping	. Gas Lift		et (Exolaio	,
	ols.	Gas N	Act	Γ					∕ '~Gravity
		0				· · · · · · · · · · · · · · · · · · ·	0		37.0
METHOD OF CO	MPLETIO	N			Production Interva	al			Ц
Used on Lease]	Open Hole Other (Specify	_		ually Comp.	Commingled			* * !
	17 S. R. 25 Indivimportant lops on and closed, flowing covery, and flow rates is surveyed. Attach file of the fil	17 S. R. 25	T S. R. 25	TAS. R. 25	T S. R. 25	To see Report all strings set-conductor, surface intermediate, production Size Hole Depth Top Bottom Type of Cement #Sacks Used	Ness County, Kansas Name Name	To be compared to b	Ness County: Ness County Kansas

ORIGINAL

#4 Potter 470' FSL & 1385' FEL of NE/4 Sec. 24-17S-25W Ness County, Kansas 15-135-24190



DST #1 - 4167-4252'. 30-30-60-30 Strong blow off bottom of bucket. Gas to surface in final shut in. Recovered 3660' gas in pipe, 350' clean gassy oil, 240' heavy gassy oil cut mud. ISIP 978# IF 82-141# FF 176-258# FSIP 931#.

DST #2 - 4269-4338'. 30-30-60-45 Weak blow building to fair blow on both openings. Recovered 65' clean oil, 20' oil cut mud. ISIP 1220# IF 47-58# FF 58-82# FSIP 1186#.

DST #3 - 4338-4343'. 30-30-60-45 Weak blow throughout openings. Recovered 25' clean oil, 50' oil cut watery mud (15% oil, 15% water). ISIP 1278# IF 23-23# FF 44-47# FSIP 1278#.

"ORIGINAL

Invoice Number: 087994

Invoice Date: 08/31/02

Sold Martin Oil Producers, Inc. To: 4748 NE 160th Avo.

ACOUNT STEINS

4748 NE 160th Ave. Cheney, KS

67025

Cust I.D....: MartPr

P.O. Number..: Potter A-4

P.O. Date...: 08/31/02

Due Date.: 09/30/02 Terms...: Net 30

Item 1.D./Desc.	Qty. Used	Unit	Price	Net	TX
ASC ASF Handling Mileage min. chg. Bottom Stage Mileage pmp trk DV Tool Centralizers Baskets Guide Shoe Insert	150.00 500.00 150.00 1.00 1.00 14.00 1.00 7.00 2.00 1.00	SKS GAL SKS MILE JOB MILE EACH EACH EACH EACH	8.5000 1.0000 1.1000 100.0000 1195.0000 3.0000 3300.0000 50.0000 128.0000 150.0000 235.0000	1275.00 500.00 165.00 100.00 1195.00 42.00 3300.00 350.00 256.00 150.00 235.00	E
f Account CURRENT	, Payable 30 Days Fol 1/2% Charged Thereaf take Discount of \$_7 n 30 days from Invoic	ter. Tax	total: : ments: al:	7568.00 0.00 0.00 7568.00	

Invoice Number: 087925

Invoice Date: 08/23/02

Sold Martin Oil Producers, Inc

To: 4748 NE 160th Ave.

Cheney, KSS

67025

Cust I.D....: MartPr

P.O. Number ..: Potter #4 P.O. Date...: 08/23/02

Due Date.: 09/22/02 Terms....: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net:	TX
Common	105.00	SKS	6.6500	698.25	Е
Pozmix -	70.00	SKS	3.5500	248.50	
Gel	3.00	SKS	10.0000	30.00	E
Chloride	5.00	SKS	30.0000	150.00	E
Handling	183.00	SKS	1.1000	201.30	E
Mileage (14)	14.00	MILE	7.3200	102.48	E
183 sks @\$.04 p	er sk per mi				
Surface	1.00	JOB	520.0000	520.00	E
Mileage pmp trk	14.00	MILE	3.0000	42.00	E
Wood plug	1.00	EACH	45.0000	45.00	E
All Prices Are Net, Payable 30 Days Following Subtotal: Date of Invoice. 1 1/2% Charged Thereafter. Tax: If Account CURRENT take Discount of \$ 203.76 Payments: ONLY if paid within 30 days from Invoice Date Total:					

Cerust purface